MP20 MOUNTING PLATE INSTRUCTIONS

MOUNTING PLATE

43 5/8"
1108mm

1/4" (6mm) DIA. HOLES FOR
/MOUNTING PLATE TO WALL
518" —=] [~
o BACK PANEL
|
|
} 3/8" (10mm) DIA. HOLES |
‘ * /FOR MOUNTING PLATE
" TO WALL (20)
7718
200mm 5 .5/16" ‘
135mm I
| 20 1/8"
} 511mm
|
7 J | ssmen L7
22mm : 135mm 200mm
|
: 1
T
! L7/8" i ]
22mm
13040 | | 134" ——|
44mm 44mm
312" 312"
89mm 89mm
32 172" 1/4-20 THREADED
826mm HOLES FOR MOUNTING
FOUNTAINS (12) 26 1/2"
CUTOUT IN WALL FOR PLUMBING 673mm

ROUGH-INS

NOTE: REFERENCE FOUNTAIN
INSTALLATION INSTRUCTIONS
FOR EXACT WASTE AND SUPPLY
LOCATIONS

FINISHED FLOOR

5/16-18 THREADED
HOLES FOR MOUNTING
FOUNTAINS (16)

1. Remove mounting plate from packaging. Read this instruction sheet before proceeding.
These dimensions are required to obtain proper rim and bubbler heights for compliance with

ANS]| standard A117.1.

2. Install plumbing rough-ins as per fountain instructions (supplied with fountain).

3. Install (2) 1/4” (6mm) screws (not provided) into wall at 43 5/8” above finished floor. Use the two best hole
locations for your application. Hang mounting plate on these screws and level mounting plate before tightening

SCrews.

4. Reinforce the wall in shaded areas for framed wall construction so that it will adequately support
the water fountain. This reinforcement must support up to 300 Ibs static load and provide a means
for securing the mounting plate in place.

5. Attach mounting plate to finished wall surface with (12) 5/16” x 2” long bolts and flat washers, 6 per bracket
(not provided). Tighten securely. (Fastener must match wall type, i.e. lag screws for wood studs, bolts and

anchors for masonary construction.)

FOR PARTS, CONTACT YOUR LOCAL DISTRIBUTOR OR CALL 1.800.323.0620

97696C (Rev. A-1/01)



MP20RA MOUNTING PLATE INSTRUCTIONS

MOUNTING PLATE

BACK PANEL

/]

7 7/8" 55/16"
200mm 135mm

22mm

26 172"
673mm

778" J

1/4" (6mm) DIA. HOLES FOR
MOQUNTING PLATE TO WALL

3/8" (10mm) DIA. HOLES
FOR MOUNTING PLATE
TO WALL (20)

55/16"  77/8"

135mm 200

mm

—13 12" =
89mm

CUTOUT IN WALL FOR PLUMBING
ROUGH-INS

NOTE: REFERENCE FOUNTAIN
INSTALLATION INSTRUCTIONS
FOR EXACT WASTE AND SUPPLY
LOCATIONS

13/4" —=—
44mm

—=131/2" F=—
89mm

1/4-20 THREADS FOR
MOUNTING FOUNTAINS
TO WALL (12)

5/16-18 THREADS FOR

MOUNTING FOUNTAINS
TO WALL (16)

FINISHED FLOOR

L7/8"

22mm

32172"

826

mm

43 5/8"
1108mm

5/8" —=
16mm

20 1/8"
511mm

SCrews.

2. Install plumbing rough-ins as per fountain instructions (supplied with fountain).

1. Remove mounting plate from packaging. Read this instruction sheet before proceeding.
These dimensions are required to obtain proper rim and bubbler heights for compliance with
ANSI standard A117.1.

3. Install (2) 1/4” (6mm) screws (not provided) into wall at 43 5/8” above finished floor. Use the two best hole
locations for your application. Hang mounting plate on these screws and level mounting plate before tightening

4. Reinforce the wall in shaded areas for framed wall construction so that it will adequately support
the water fountain. This reinforcement must support up to 300 Ibs static load and provide a means
for securing the mounting plate in place.

5. Attach mounting plate to finished wall surface with (12) 5/16” x 2” long bolts and flat washers, 6 per bracket
(not provided). Tighten securely. (Fastener must match wall type, i.e. lag screws for wood studs, bolts and
anchors for masonary construction.)

97696C (Rev. A-1/01)

FOR PARTS, CONTACT YOUR LOCAL DISTRIBUTOR OR CALL 1.800.323.0620




